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Note: ~You have four choices for each objective type question as A, B, C and D. The cholce which you think Is correct, filt that circle in front of that
questjon number in your answer book. Use marker or pen to flil the circles. Cutting or filling up two or more circles will result no mark.
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1. | The patient's skin colour may change and Em ;' - AstT1 :n . 8 ;’t el
become dusky or purplish in which disease? mphy ronchius Pneumonia

2 . ,4_»&1(4,0!;2-.?4.()?"»):’{ ﬂ (‘j'/};‘ ; /'41
The waste material of conifer trees Is: Latex Mucilage Gums Rasins
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3. | The special organs, tissues or cells which detect Ef;ectors Re:: e”tlo h & g d'” A %
the stimuli are called: il p oordinators Glands

4. RRLY ’-ﬁ 14 22 24 26
Number of facial bones is:

5. e fbsisbla eS| B 0 | YO
An example of sexually transmitting disease is: Small pox AIDS Hepatitis Wz::g:]"g
bl Sl ARSI | Ky S g -

6. | In a rabbit, the glands which produce secretions Hiigiats Seminal X s4 : il
to lubricate the ducts are: vesicles rena Cowper's

b Sy S Lnd b S F QAL

7. | In. human body cells, the  number of 23 46 26 48
chromosomes is:
Yuf,Ll?Jﬁ&:‘fﬂé‘&gc)_‘(uéufffulc}f;éb
8. | How many hydrogen bonds are present between 2 3 4 5
cytosine and guanine? ‘
3. _a b8l | #50 Ae¥a0 430 e #20
The thickness of biosphere is: 50 km 40 km 30 km 20 km
o ki bl pLivt F Lt L it (KT (st pitesl g st !
i b T g bmisbs |
" | The relationship between living organisms in " Commensalism | Mutualism Parasitism Competition
which one partner is benefited while the otheris |
neither benefited nor harmed is called:
S U ol A L1 | OB S | DNACHSTS | bipantBln | et Lishs
Vbl 2 f | JA(GMO)AsL 6/
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Which is the third step in Genetic Engineering? Insertion of Transferof | Growthofthe | Expression of
geneinto a recombinant | GMO the gene of
vector DNA in host interest
organism
A AT 3L 42 L2 Sl - e B o
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12. | The drugs which inhibit or kill bacteria within or ‘f@/"*’ ",ﬁ v /L & el
Antiseptics Disinfectants Antitoxins Antibiotics

on the body are called :

/////5& 119-223-1A-34000 *

e




Biology

Time : 1:45 Hours Group : I Paper (D 24
Marks : 48 Subjective (1%

RollNo. || |6 [9]1 [5T4] erashunsed
SSC (10'") 1** Annual 2023

d%
U;;:»f)f £1245: )
SwWy -1—25 w: A

Note:~ Section B is compulsory. Attempt any two (2) questions from Section C,

vi,
vii.

viii.

vi.
vii.

viil,

vi.
vii.

viil.

5.

6.

(b) Describe the process of oogenesis with the help of

7. (a) Explain basic steps in Genetic Engineering.

(b) Describe the mode of action of vaccine in detail.

o2l iy ne (Y. aut('r.p-q.d)vr»,» W
(SECTION-B /5.»)

Write short answers to any five parts. (5x2=10)
What is the role of “C” shaped cartilage rings in the wall
of trachea?

Differentiate between acute and chronic bronchitis.
Write the symptoms of pneumonia.

Write two osmotic adaptations in hydrophytes.
What are two leading causes of kidney failure?
Define nerve impulse.

1

Write the function of Eustachian tube.
Write short answers to any five parts. - (5x2=10)
Write the names of chest bones.

Define biceps and triceps.

How budding occurs in Hydra?

Define double fertilization?

Write the hames of different types of genotype.

State Mendel’s law of independent assortment.

Define discontinuous variations and write its one example.
Write the advantages of artificial selaction in animals.

Write short answers to any five parts. (5x2=10)

fixation?

Define industrial nitrogen fixation.
What is food web?
- Define thermodynamics.
What do you know about lactic acid fermentation?
What are transgenic organisms?
What are cephalosporins?
Write the uses of narcotics?

SECTION - C (Each question carries nine 09 Marks)

e b ¥ L LS Lag IS,

Differentiate between diabetes inspidus and diabetes mellitus.

What is difference between atmospheric and biological nitrogen
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(a) Write detail of kidney transplant.

(b) Write a note on types of joints.

(a) Write a note on forebrain.
labelled diagram.
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, filf that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.

(SECTION-A (5.»)

Q1 - Questions / = ui» A B c D
1 2SI | A Enkl v i e
The male reproductive part of flower is: Calyx Androecium - Carpel Gynoecium
5 AL s Erdundeustsi | wd | e N7 o4 3H1
The animals bred in artifipial selection are called: Cultivars Breeds ’ Selectives Broilers
4 ertF | P o | v 87
" | Itis a consumer: Phytoplankton Alga Grass Rabbit v~
4 b P ! e Lk asil
Multiple fission occurs in: . Amoeha Yeast v Hydra Rhizopus
: 4,
» , ; Al | ALSEH | AL
5. b tosi :Iul&h'//: A ;If j’u’/’g DI ﬂﬁf i Pleural Intercostal Alveolar
The membranes enclosing lungs are called: aphrag memibranes Hi eml];:g o s —
T At
. ’ JT 15
6. . _q_l»dbz——ﬂd’ beUny uJ"' it el A /f:; %I{rf: o Qs 2
- | The drug obtained from plants is: | Digitglis Asprin fincture ‘ Streptomycin
Z ,4,,‘)9‘{ J’C»u{lﬂbﬁ-uﬁf/wg g L{B’;‘;’-‘? Uf s 2 A
It is a pain killer chemical formed in brain: ‘| Thymosin endorphin Insulin Interferon
3 ke E P L) | e S Fr
The waste excreted by conifer trees is: Resins ,/~ Gums Latex Mucilage
|| |k || A
" | hepigjettonol nemon Ml carEs e Dendron Axon . Myelin sheath
impulse towards cell body is: Ranvier
10 o b S n0s ‘é’f d‘;“? S Sk ok $4
" | Which is not the part of appendicular skeleton? ;icr%;;a Pelvic girdie Arm Skull
S btz LU L S U G | w0l B Fuug Sif
11. o .
In DNA adenine nucleotide forms pair with: Cytosine Thymine Uracil Guanine
v
o | tlan dPOE bl b g | | i | e
g 4 ythep Nitrogen gas Ammonia Nitrites Nitrates

of ecosystem?
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Note: - Section B is compulsory. Attempt any two (2) questions from Section C.
(SECTION-B /».»)
2. Write short answers to any five parts. (6x2=10)

-+ How smoking affects teeth?

“#. What are the causes of pneumonia?

ili. Whatis the difference between respiration of day and night?

iv. Why there is no transpiration at night?

= What is the role of skin to control body temperature?

vi. Write the roles of rods and cones.

vii. What is the difference between aqueous humour and vitreous humour?
vitt, What Is the cause of dwarfism?

3.  Write short answers to any‘ﬂve parts. (5x2=10)
# What is the difference between compact and spongy bone?
¢ Define osteoarthritis.

ili. What is sporophyte and gametophyte generation?
iv. Define calluses.
#. Define nucleosomes.
M. Wrlte down the functions of DNA?
vii. What is phenotype? Give an example.

viif.  State Low of Segregation.

4.  Write short answers to any five paris. (5x2=10)

/,,vi’. What is meant by the environment of an organism?

~ii.  Define species.

ili. Write two causes of land pollution.
#v.  What is meant by “3R” principle?
% Define genetic engineering.
vi. Write the names of bacteria used in lactic acid fermentation.
vil. What are addictive drugs? Write their harm.

vili. Why non-prescription drugs are sold over the counter?
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SECTION - C (Each question carries nine 09 Marks)

5. (a) Explain the Peritonial dialysis? 4
(b) Define a joint and explain its types. )
6. (a) Write a detalled note on reflex action. (€))

(b) Explain the phenomenon of multiple figsion in Amoeba  (5)
with the help of a diagram. :
7. (a) Discuss the role of biotechnology in the field of food (2+2)
and agriculture.
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(b) Define a vaccine and describe the mode of action of (2+3) ) é Y /fg e /(f’ - é o ,J(f u{é’ &)

vaccines. /‘7 %/Z A/
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